AEE/—b

MRAEAREE (7Toh—RILh, RETRKEZEKN=2.0)

<

I

VA YNGR LN YL

172(He)

W]

287 (9 B fulE

a5

WYN B0—-3413
4/n)

1= [CARAEYMBERISh (BEEE/ HRIVERH, RIFoa mAAZL) |
‘2. &= |[PLFY—P56LMD—E(1) |
3. BRI @
(1eS=ERECEEER) w=| 345 |ke
@7h—tint
OfFR N=| 4 E3
@Y 4 XMk , M= 10 I
@1 ALY DIRMTE I (FPRI= & DMEH) A=| 78 |mm 4 78x10° |
@BBREEEEZBEDERYER AR AIO T A~ RN OKRFH Ne=[ 2 E3
OREAELYBBELOECORE He=[_ 72 .
(RS DHEADBHIRILE R L= 574 Jom={ 0574 |m
(BHRHTHHEAMDAH N RD A SIS E DETORR Le=| 267 lmm(LesL/2)= [ 0287 |m
4. BREE(BEHOMRAUT24EEEBAALTER)
(VBB Rk TR Kh=| 2.0 |
@BHBHEEE Kv=Kh/2=[ 1.0 |
(D AKTHE S Fh=Kh-W-98=] 676.2 In
(OBE RHEME D Fv=Kv:W-9.8=| 338.1 N
&P h—RIL D51 Rb= _FhrHEH(W-S8+Fy)-L-Lg)
LNt =| 2704 IN
(BT wh—RIDEAMH Q=Fh/N=| 169.1 N
NF7oh—RIHZET BB HE
@5IREHE o=Rb/A=| 35 |MPa<ft=176.4MPa
@AM HE T=Q/A=| 2.2 |MPa<fs=132.3MPa
QFIRLEAMEREIRITHHE fis=14R—16T = 2435 |MPa
o= [ 35 |MPa < s=[_ 2435 |MPa
@77 vh—RILLOET %
OFh—RIL DT % =[BT H- !
@avy—rDES =| 150 Jmm=__ 015 |m
ORI DIEAES = 110 Jom=[ 011 |m
OWBEIHME Ta=| 3528 | N > Ro=[Z04 N
PLEDOREHBRLY7UA—RILMNI+HRIBEEET S,
FRHEFTA-F AN OV TORERMETHY  HROMBRELRETILOTRHYEL A,
| 574 994 J

Hp814. x1s




